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1. 3 B3TEIoDd Wi 34 TFRTat BRoOT. E—
This Question Paper consists of 34 questions.

2. B [IBYIOTY HBND B Doews BT (2eF) [RERNT. T
T, BOLmndE BRo030 Q) & FTS,Fob LoD ToIFTI, FFOL (WS STOR),
DEWO TIFIL F50TIeR. BT WS, FONY, D, RN 9T 0T TOFRERY,

This question paper has been sealed by reverse jacket. You have to cut on the
right side to open the paper at the time of commencement of the examination

( Follow the arrow ). Do not cut the left side to open the paper. Check
whether all the pages of the question paper are intact.

3. BINR 8RLT RRESNTRY TOR.
Follow the instructions given against the questions.

4, WO mﬁa’@ﬁm%&w 903N @%ﬁ@ﬁd&d TpedE @oﬁﬁeﬁa‘g{ ANV
Figures in the right hand margin indicate maximum marks for the question.

5. BIWHIONTY, WRERYLY 15 WVRNME TRDTITY  AOTOZ,  WZOTLD
ROTETOT TR0, BFTE 50D FRNTY, ABRNT,
The maximum time to answer the paper is given at the top of the question
paper. It includes 15 minutes for reading the question paper.

6. AR VIORPNT BIBIoD @RS ( Version ) 0 IR T T3,
BOY,FTINTOT T3 8,303 &3 & 00T SNTPYTIY, 9TOTRUERY,
Ensure that, the Version of the question paper distributed to you and the
Version printed on your admission ticket is the same.

1 of 12

(=)
w
o
%
N
o
N
A

-0

Q0T TZOR

20 330w v F20%

TEAR HERE TO OPEN THE QUESTION PAPER
—
3]
>

Tear here

oy =0

=]

e Temshere | Biesedmgcedesweegor | weeSE



[CCE-III-RR/PF(A)/111/7159] | 86-EK (Level-2) |

I.

31 TONT JINOR OFTe WTRr TeVINER Towy, SORRIRD VRN,

ORINTO, ﬁzﬁ% ARTTRT ITHRY &R, ©TT B, SRITTRODN  J[REOF

LOZTTRY, WD 10 x 1 =10

Four alternatives are given for each of the following questions /

incomplete statements. Choose the correct alternative and write the

complete answer along with its question number and alphabet :

1. Z80TQ w3,BI) SRBOTTLI GUTEARENTOI ¢

(A) éap‘;%e@ (B) &9t $eO

(C) gowdn,eer 3ed (D) @t $¢d

The key which is used to remove the image in writer is
(A) SHIFT key (B) DELETE key
(C) (CONTROL)CTRL key (D) ALT key

2. 20T 33,[I), WREREE WRBIT WFNT F0aJ,

(A) © (B) 2.0
(C) LT (D) T

The number of types in which an image can be aligned is

(A) Six (B) One

(C) Two R (D) Five
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3.

20T mﬁogdaow%er—amarwoﬁ RIS BoN,BY),
(A) 3OND (B) &lozgees®

(©) %Jamwé (D) &0

The collection of formatting information in a document is called
(A) Styles (B) Template

(C) Table (D) Library

FINTFNTY, 2,083 T, €7, 00N 0T £23°

(A) B @1 (B) ez

(C) Buo® (D) JBee

A programming language in the following is
(A) Calc (B) BASIC
(C) Writer (D) Macro
DBOTTHYODY, WO BRWIWT TOWD  RRWEINTI)
WOVRRYROT 0l

A)  SwE, e (B) Rwreincwer

(C) =nERe (D) 3Onw

The option that can execute a set of instructions using one
instruction in a spreadsheet is

(A) Module (B) Subtotal

(C) Macro (D) Styles

RBUATIIF ( DBMS) 3¢, ERCFFTYT STROOINTT) SoerimyZ ees

(A)  fe (B) Toom's

(C) GruR e (D) AREoL sed

In DBMS, the row in a table is called

(A) Field (B) Record
(C) Attribute (D) Student key
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7.

a) 3.0 (B) OTpesFs
(C) Fo=re (D) &ees®

A question asked from a database is

(A) Query (B) Report

(C) Form (D) Field

NN 831 BOLWORAIT BN&LENTD

(A)  ewet (B)  ,88,2R, 8 D
(C) THTrned (D) c”z%fé T NEO

The details associated with an entity are
(A) Table (B) Attributes

(C) Records (D) Registrations

339, AT LI0 YLOWDTIN FOTBFRLIETHTI BOBOF WRTTES FOSS,

(A) 100 (B) 101
(C) 108 (D) 111

The emergency telephone number to be contacted for primary fire

is

(A) 100 (B) 101

(C) 108 (D) 111
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II.

10. 3% B0 IRCVN T2TD

(A)

(B)

(€)

(D)

BTN WOV0TS TOTITY)TI
S daeer%ﬁﬁﬁ STIITRL QTR
BOWF DY YN SHITRQLTOFI

30080 TWOOW modﬁb AN TR0

Sore lower back is caused due to

(A) Reaching forward frequently
(B) No lumber support
(C) No upper back support from chair
(D) Reaching forward for a long period
DRTTT LWSTROT zi)éidaﬁ :‘é@ﬁa’% W3 [RB : 4xXx1=4

Fill in the blanks with suitable answer :

11. 233,580 BRONT FFPNTY, QOBLO WIROT SO, oo .

Image can be placed at the bottom of an object using the

option .......ceeenenennn. .

12, BRTRS T FOMBIDY, -ovvvveveeeneicnne. SNSRI

A collection of modules is called ................... .
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III.

13.

14.

15.

@rw@ojas% O30T €3 DT, QX° @%aﬁ Q@s GroIc:
WP TWRWTOTD.

A query can be created by using a Wizard, in design view

and ......coeeevnennnn. .

T R CTunleve) at=0 N Q0T FOPIRITS.

Physical hazards occur due to .................... .
A-w&iOSJQ mﬁzfﬁfé@( R B-w&wodoQ ORNS 6303%71%*6%( QeBRNT.
@Qﬁ@ﬁ& RO mgdxem% gmgdd.@zsﬁ B0

4xXx1=4
Tabs are given in Column -A and their options are given in
Column-B. Match them and write answer along with alphabet :

A-w’é\i B-w’é.e:’;
Column-A Column-B
) QR &0 a) AW ReLe”
Edit tab Subtotal

i) OILE b) nRwee® eE®
Insert tab Goal seek

iii) 3R £39.20° c) TRODOT
~ 3 )

Tools tab Hyperlink
iv) oo &390 d) TEEE g0
Data tab Record library

€) 0,5 wWeonx’
Track changer

f) as&'F dee

Insert sheets
g) D05 L1 T WFDY® WP

Link to external data.
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IV. 3:INIITINR 0Z0R : 6x1=6
Answer the following questions :

16. 9, SR T 0T 90’ WP LRSI YUTOIRENDI), E9R.

Mention the use of Image mode tool in LibreOffice Writer.

=

17. O % Guo'sd ‘Bees® (D) DERY 39,854,

Define the term "Page" in LibreOffice Writer.

18. QBOBTZYONE eI edneeder HomTesd ?

What is subtotal in spreadsheet ?

19. aéaémﬁojo@qﬁa‘meﬁéew 603%033 emwoiramwmq PR,

Mention the use of consolidate option in spreadsheet.

20. @363@%3033@228@06 ﬂ@cs%ew eso:'i%ojaa T3RTO30 meswsg’;g{ IROX.

Name the tab which provides share spreadsheet option in

spreadsheet software.

;

21. Bz f%m e mws;i 29,809, R

Define the term 'primary key' in database.

V. 23903 3ned cvgon 6x2=12

Answer the following questions :
22. W WOW WX WORODIY WA JONY, wWIW/WIY, Ko\
BOINFR), WICW0.

Write the steps to insert an image into writer using drag and drop

option.

23. ¥, m@@@a’% QPEORORYTR, WOI008,T0W T, ﬁéﬁjon"ﬁ%f&& TROX.

Name the four settings which control the positioning of an image

in a document.

7 of 12



[ CCE-III-RR/PF(A)/111/7159]

| 86-EK (Level-2) |

24, [R,ER,C00T TFE'F BRELI AFTNG G FINER), TEIBZHER.

25.

26.

27.

EfEFE
b

List the actions that are not recorded by macro.

&5 [ OR

BR[0T 0Gewdsn’ BTT* AOFNY TBODT &, TYANTEID ?
Differentiate between absolute and relative hyperlinks.

BeEIWER Y BOWOATIO0Z, %@Jﬁsw)mfaﬁg{ 39,809, %

(a) TPRFEND

(b) OFpeLFrned

Define the following with respect to database :

EIREFR

(a) Forms

(b) Reports.

BUAONTD SRS wﬁoﬁmﬁmf@{ mgjm@.

List the four advantages of DBMS.
&5 [ OR

R, 0T B TE SRR LY, AFNTRY FR0A.

Name any four types of numeric datatype.

1 03 QAT WNFNTIY, TEIZRE.

List the different classes of fire.
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VI 23903 33nef cvgon 4x3=12

Answer the following questions :

28.

29.

30.

JUOROS Hewef I B0 (ToC) & CIRTREAR TR
630,07 TITR0, BROR T ST TODF 9.

Name any three tabs present in table of contents (ToC) in writer,

and mention their functions.

&5 [ OR

€39,,5° WeOwR® LRTLIVTIY, DEFALD BTV TOSNYIY, S92 T 89,5
BeowSE e:sof)%oda w@o&meﬁﬁ@aﬂg{ PR,

Mention the steps to view the track changes toolbar and write the

uses of track changes option.

3,830°Tt WOWOHATOE, B3 FENT 3O &NFne @odarﬁ%faigt W3O

(a) OF,

(b) &,e5° JONed
(c) ,080° ,Onsh

Write the functions of the following style categories related to
writer :

(a) List

(b) Frame styles

(c) Character styles

DBOTHTODY, FTO*OOTI), TWILO BTIT TOINTFR), BOR.

Explain the steps to create a hyperlink in spreadsheet.
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31. Bl sy &é’jmcﬂ%sef Beed Mdeﬁ@t LVTITOFH RS VRO,

Explain the hierarchical data model in database with an example.

VIL. 3:3¢NST,3nen wwgdx : 3x4=12

Answer the following questions :
32. O, BT T’ T WL BRIDT T[S, BITF RAD TOTNTIY
QRO

Explain the steps to resize an object using LibreOffice Writer.

&5 /OR

3,£30°3Q, 500 NIFRY, FeDAT 20T 03T TOSRYIY, DTOR.

Explain the steps to add comments and delete comments in

writer.

33. 39N T B5ONIRY FoFHTON ITOR :

(a) RO ¥=
(b) S0 Feeoed =
(c) BIRQ Bewoed s
(d) cdees® WBeesoed
Explain briefly the following data types :

(a) Boolean type

(b) Binary data type

(c) Currency data type
(d) Date data type.

&5 [OR
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D23, BeR* YRS CIRRT® QOLIT HCATT FOWORITOE, %@éﬂﬁ@mf@%

xo§§mﬁ 2.

[OF¢%:
z

(a) & W0
(b) O LT
(c) mwozmer LIRS WOTk
(d) ﬁwem'e LT

Briefly explain the following with respect to LibreOffice base user

interface :
(a) Title bar
(b) Menu bar

() Standard tool bar

(d) Status bar

34. Tewd WUerrSY oSeedon® e ny mwoﬁ.@eﬁmﬂ@{ DWOX.

Explain the advantages of relating tables in database.
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